The Mercury-Redstone Gantry.

Only a few things you need to be aware of if you build the gantry.

1.

It is important that the fixed sections of each platform are aligned centrally on the axles between the A-Frame connections . The Connections
also need to be evenly spaced from either side of the fixed platform. It is recommended that the attachment points are checked against the pins
on the A-frame and adjusted before being snapped into position.

Do the above settings for platforms the two middle platforms before they are joined together. Once joined this gives you a four point connection
to the A-Frame which stabilises the frame and stops any sideways movement. By folding the frame down you can check your alignment as the
rear of the fixed platforms goes into the channel on the base of the gantry.

The studs on the back row of the platform goes under the 'gliding groove' (Lego's description in LDD) on the 2x8 piece on the fixed part of the
platform, slide the platforms all the way in - they will stop in at the mid point. Make up the end stops from the 1x2 roof tiles and 1x2 angular
plates and attach them to the ends of the fixed platform's 1x12 plates (the sub-sub assemblies when you built the fixed platforms). On the
middle section you need to guide the end stops over the technic connectors to the A-frame before they cam be clicked into place.
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Make 2 A-Frame Arms
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Adjust the two short platforms
so they are level with the base
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